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‘xeXCR ye YCR, ZH—F#N f, EEXFFEN xc X, #PeeKEIE—R
EH ye Y 5Z R, MFR F R —NEE

f: XY,

Fit y = f(x)

> ENE: X

> FiAlE: Y

> EiF: AX)={x)eY|xeX}CY
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il :
1. y=+vx—-1
0y {;1 — 3(100 — x)2/1600,

1, xeQ,
3. y=
0, xeR\Q.

4. ai1,d82,4da3,- - ,dn, "

60 < x < 100,
0 < x < 60.
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BRSNS
> EEEE ) =c
> FERH: AX) =x (a#0)
> HEBEE: fx) =a (a>0,a#1)
> STEEH: fx) = log,x (a>0,a# 1), fix) =Inx
> =fAREL: sinx, cosx, tanx, cotx, secx, cscx
>

R=fIEE: arcsin x, arccos x, arctan x
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ST BAIMEREY XY g: V' = Z HEE AX) C Y. EXEGRE:

z=g(fx)) = (go H(x)

> EXRET N R ERINI R ESHF R AR E
> ZREIRFRAX
> SERBIEEZSIMIRHZIRK

MERY: AEFMNFRYLIERAOMEENE SF2RI R
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] 1: f(x) = sinx, g(x) = &
Bl 2: flx) = v/x, g(x) = Inx
] 3: f(x) = In(—x), g(x) = &
5l 4: A(x) = X2, g(x) = V/x

5 5: sin(arccosx) = V1 — X2
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Bl 6: FFS L

1, x>0,
fx) =40, x=0,
-1, x<0.
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e —e e+e
chx =

1
2. sh(x= y) = shxchy + chxshy
3. ch(x=£ y) = chxchy £ shxshy
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B 8: ERERE fx) = [ RRAEE x WERKEH, {x} =x— [x A/NEERE

PR
I [ <x<[x+1

2. {x} B 1 AR
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Bk St

ExeXyeVY, BEE—MHHAN f, FEEXNFEN xc X, #HEXIE—HEN yc Y
5238, MR f 2— st
F: X Y,

Fie y = f(x)

> T AX) =Y

> BE Vxi,x € Xox #xe = fixi) # fixg)

> Wat: B+ ES

> gt (ReE$): XFFNEG y = fx),

fFliyes X, x=f1y

10/15



Bk St

f5: fx) =sinx
1. R—=R
2. R [-1,1]
3. [-7/2,7/2] = [-1,1]
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BREH

BLER: HFE-NIHM EF

fx) <M, VxeX
BTHR: FE-ISIHN, FF

fix) >N, VxeX

BRI BRELRAXETHE. B
N<Ax) <M, VYxeX
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BREH

Ry

MR
L £ X Y ARERBHHREFHR FE—ITERC #EF

)] < C VxeX

2. f: X= Y,g: X Y RENEREH, Mg f g hREREH
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RiEE. FE%. Ak
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Bk

S8 1.2: 2(2), 7, 8(3), 10(2), 14, 16
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